| daiir: 11-165.1200 kat Cocrarien: 01.08.2010 | Jlmer 1 us 3
No Ha K-Bo,
exene Kon HaumenoBanue neranu XapaKkTepucTiKa e /us,
1 00.02.04.01.21 Bunr M5x55 1
2 00.02.03.01.04 Bunr 4x16 5
3 96.05.00.02.00 Pyuka-Hakianka 1
4 00.10.01.01.08 BrixnrouaTens KEDU HY15B 12(10)A 250V~5E4 1
5 96.05.00.01.00 Pyuxa 1
6 00.02.03.01.02 Bunr 4x12 4
7 96.05.00.05.00 Kpeimika xopryca gBuratess 1
8 00.02.03.01.51 Bunr 3x12 2
9 95.04.03.04.00 IIpyxuHa ciupanbHast 2
10 96.04.03.03.00 [leTka snekTpudeckas 6x10x14 2
11 95.04.03.01.00 Kopnyc merkoaeprxatens 2
12 95.04.03.05.00 dacron 2
14 00.02.03.01.17 Bunr 5x25 1
15 96.05.00.04.00 Kopnyc aBuraress 1
16 00.02.03.01.29 Bunr 5x16 1
17 95.05.00.03.00 PykosiTka JomosHuTENbHAS 1
18 00.02.04.01.15 Bunr M5x18 1
19 00.02.02.02.20 [aiiba 5x10,5x1 1
20 96.04.01.01.00 Cratop 1
21 00.02.03.01.19 Bunr 4x60 2
22 96.04.01.03.00 Juadparma 1
23 96.04.02.02.00 Brynka pe3uHoBas 1
24 00.01.01.01.05 [ToamUITHUK MapUKOBBINA 608Z (8x22x7) 1
25 96.04.02.01.00 SIkOpb ¢ BEHTUIIATOPOM 1
26 00.01.01.01.20 [ToamUITHUK MapUKOBBINA 6000-2RS (10x26x8) 1
27 00.10.04.01.01 Kongencarop 0,33mx® K X2 MEX GPF 40/085/21/C 250V 1
28 95.04.00.03.00 [Tranka dukcarwu nHypa 1
29 95.04.00.02.00 TpyOka 3anurHas 1
30 00.10.02.01.02 [THyp nuTaHus ¢ BUIKOM HO5VV-F 2X1,0mm2, L=4m 1
31 95.03.03.10.00 Knomnka ¢ukcaTopa mmuHIEIS 1
32 96.03.03.09.00 Prruar ¢ukcaTop mmuHmens 1
33 95.03.03.08.00 [pyxuna 1
34 95.03.03.07.00 [ITaii0a npssMOyroabHas 10x14x1 1
35 95.03.03.06.00 Konb11o BoinogHoe 1
36 96.03.03.05.00 Kopnyc penykropa 1
37 96.03.02.01.00 Koxxyx HemoaBWKHBIN 1
38 00.02.04.01.23 Bunr M4x8 1
39 00.02.04.01.14 BunTt M5x12 2
40 96.03.02.02.00 Y1op pe3suHOBbII 1
41 00.02.04.04.19 BunTt M5x25, S4 BHyTp. 1
42 00.01.02.01.25 [NoamumHUK UroapYaThIN HKO0808 (8x12x8) 1
43 00.02.99.02.05 Kosmb1ro cTonopnoe B12 1
44 95.03.02.03.00 BuHT cnienmanbHbIi MS8x16 1
45 95.03.03.04.00 Koeco 3yd4atoe 7=35 1
46 95.03.03.03.00 IlImonka cerMeHTHAs 3x3,7x10 1
47 95.03.03.02.00 [nuuaens 1
48 00.02.99.01.06 Kosmb1io cTonopnoe A28 1
49 00.01.01.01.42 [ToamUITHUK MapUKOBBINA 6001RS (12x28x8) 1
50 95.03.03.01.00 Kopmyc nogmunanka 1
51 00.02.04.05.02 Bunr M5x12 4
52 96.03.02.04.00 Hoxx packiauHMBaronuii 1
53 95.03.04.01.00 bonT cnenumanbHbIi M8x10, S=13 2
54 96.03.01.03.00 [pyxwuna 1
55 00.02.04.03.08 Bunt M4x8 nuur npsiMoit 1

KarTamor z3ammacHBIX JacTed U3 IE€IIUSI

[l
|

CK

N

JlelicTBUTEIIEH C:
01 ABI'YCTA 2010r.

[MNJIA PYUHAA
OJIEKTPMUYECKAS IUCKOBAA

JIT-165/1200




| aiin: JIM-165.1200 xat

Cocrasinen: 01.08.2010

JIuct 2 u3 3

56 96.03.01.01.00 Koxxyx noaBmxHbIN 1
57 00.02.99.02.12 Kosmb1io cTonopnoe B34 1
58 95.03.01.02.00 Pyuka ko)kyxa HOBHKHOTO 1
59 00.02.02.02.02 [Taii0a @4 3
60 96.02.00.05.00 ®draHel BHyTpEHHUI 39 1
62 96.02.00.04.00 ®dranHen Hapy)KHbII 39 1
63 95.02.00.03.00 BuHT cnienuaabHbIi M8x18, S13 1
64 00.02.02.03.08 [IIaii0a cromopHas 12 2
65 95.03.04.02.00 Pbruar 2
66 95.03.04.03.00 KonTtpraiika MSL, S=13 1
67 95.03.04.04.00 [pyxuna 2
68 00.02.02.02.32 [aiiba 8x18x2 2
69 95.03.04.05.00 Kponmreitn 1
70 95.03.04.06.00 Bunr M6x20 1
71 95.03.04.07.00 [pyxuna 1
72 00.02.99.02.02 Kosmb1io cTonopnoe B8 1
73 95.03.04.08.00 3akienka 26x17 1
74 95.03.04.09.00 KponmreitH yrinoBoi 1
75 95.03.04.10.00 Och 8x47 1
76 95.03.04.11.00 BuHT cnienmanbHbIi MS8x18L 1
77 96.03.04.12.00 OcHoBaHHe 150x304 1
78 00.02.04.05.01 Bunr M5x8 3
79 96.03.04.12.00 [Txasa rIyOMHbI MTAICHUS 1
80 95.03.04.13.00 3axknenka 26x9 1
81 00.02.02.02.33 [aiiba 7x16x2 1
82 95.03.04.14.00 BunHT OapanikoBbIit M6x15 1
83 96.03.04.16.00 [ecTurpanHuk M8, S=13, L=95 1
84 95.02.00.01.00 Kirou cnienuanbHbIi 1
85 95.02.00.02.00 JIuneiika-orpaHUIUTENH 1
86 00.02.04.01.46 Bunt M5x80 1
87 95.04.03.07.00 TpyOka nzonupyromas 1
88 95.04.03.06.00 TpyOka nzonupyromas 2

)

CK

N

KarTamor z3ammacHBIX JacTed U3 IE€IIUSI

JlelicTBUTEIIEH C:
01 ABI'YCTA 2010r.

[MNJIA PYUHAA

OJIEKTPMUYECKAS IUCKOBA

JIT-165/1200




| aiin: JIM-165.1200 xat | Cocragnen: 01.08.2010 | Jucr 3 u3 3

E,-":gﬁ = EE‘='=K k Karajior 3anacHBIX yacTeH U3 0E€IUsL
JlelicTBUTEIIEH C: [TNJIA PYYHAS
01 ABI'YCTA 2010r. OJIEKTPUYECKAS IUCKOBA ALI-165/1200




